BENGK106/206

Qu%stion Paper Version : A

Time: 1 hr.] ; . RO [Max Marks: 50

INSTRUCT;QNSTO THE CANDIDATES

1. Answer all the fifty questions, each question carries one mark.

2. Use only Black ball point pen for writing / darkening the circles.

3. For each question, aftgr selecting your answer‘g‘darken the appropriate circle
corresponding to the same question number on the OMR sheet.

4. Darkening two cirClés for the same question makes the answer invalid.

5. Damaging/overwriting, using whiteners on the OMR sheets are strictly

prohib 1ted

1. Oral commumcatmn is different from written communication as it is .
a) spoken in transitory b) written
¢) spoken and permanent : d) non verbal

2.  Which element is the medium through which amessage is sent?
a) context b) sender ¢) channel “my, , d) noise

3. When colleague‘é share the official communication it s ...
a) radial b) informal c) horizontal d) vertical

4. When the communication is in-between managers and workers it is
a) informal b) ve 1cal c) honzontal d) crosswise

5. Manager providing tips to the team is . vl
a) vertically downward - b) formal
c) radial » d) vertical

6. In communication, the observation of areceiver response is called
a) message “ b) feedback c) survey d) channel

7.  Written diary every day is an examplc of which communication?
a) interpersonal b) intrapersonal ¢) organizational d) extra personal

8. The management circulates a memorandum regarding new bonus and incentive schemes
among all the employccs itis a case of _ communication.
ayradial . 'b) upward ¢) downward d) crosswise

9. What s the type of communication which takes place within an individual?
a) interpersonal b) intrapersonal ¢) organizational d) extrapersonal
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A rumour in the city is a form of
a) Grapevine b) downward c) radial
How many IPAs are there?
a) 46 b) 44 c) 214y
Do not boast your wealth. (‘

a) for b) of W, ¢) in

The ship was bound India: -

a)to b) for c)of

I prefertea cold drinks. 3

a) to b) from ¢) than

Tick the correct phonetic trziﬁscription of the word ‘Shéép’.
a) /fhip/ . b) /chi:p/ c) /li:p/

Tick the correct phonetic transcription of the word ‘Judge’.
a) /d3Ads/ b) /d3juj/ ¢) /zuij/

Tick the corrye‘é’t phonetic transcription of the word ‘These’.
a) /dizl... b) /8iz/ c) /theez/

Tick the correct phonetic transcription of the word ‘Cheeéé’.
a) /chiz/ b) /thiz/ c) /thyy/

Tick the correct phonetic \kt‘ranscription of the wo;fd‘*‘«‘Teacher’.
a) /tiztf o/ b) /tiich o/ c) /tiiitf o/

Tick the correct plt;éﬂétic transcription of the word ‘Church’.
a) /t] 3:t)/ b) /tiv tfof c)/tf3:o/

In which of the following words any silent letter is prgsént.
a)cup ° b)same = . c)Post «

In which of the following Words letter P is not is silent
a) cupboard b) pneumonia ¢) coup
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d) horizontal
d) 26

d) from

o d) with

d) for

d) /fhiip/

d) /zuds/

d) /diiz/

d) Miiz/

] d) /techr o/

d) /s tfo/

d) pull

d) None of these

Find collective notin in the sentence : ‘He was part of the film crew’.

a) He b) Film c) Crew

Find abstractnoun in : ‘The theatre was engulfed in darkness’.

a) Theatre b) Darkness c)BothA&B

Someone’s life history written by another writer
a) autobiography b) bibliography c) biography

Person who does not believe in the existence of God:'
a) Heretic b) Fanatic c) Atheist

Tendency to favour one’s relatives

a) Favourisms b) Nepotism c) Expiation
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d) None of these

d) None of these

d) story

d) Theist

d) Spinster



28.

29.

30.

31.

32.

33.

34.

3s.

36.

37.

38.

39.

40.

41.

42,

43.

44.

One who totally abstains from drinking

a) Heretic b) Teetotaller d) Stub
What is the emphatic form of pronoun ‘I’? ; ‘ .
a)l b) Me ¢) Mine d) Myself
[ have my holidays in Kolkata. (Fill w1th "éo;rect verb.)

a) spent b) spend ¢) spending d) spended

Raktim or Sandip will receive you. (Fill with correct cogjt}nction.)
a) but b) either - ¢) and " d) none of these

What is the root word, in the word ‘BILINGUAL".

a) bi b) bil.. ¢) lingual . d) ingual
What is the full form of B2C?

a) Business to Counter b) Business to Consumer

¢) Bank to Customer .d) Brand to Consumer

What is the full form of CTO?

a) Chief Transmission Officer b) Chief Telecom Officer

¢) Chief Technology Officer gy, d) Chief Technology Operator
The correct contracted form of “would not” is?

a) would’nt b) wouldnot ¢) wouldn’t d) wouldnt’

Tick the minimal pair with medial sound diffepen;:’é. 4 7
a) mug-jug b) ship-sheep ¢) cab-cap d) pit-bit

Tick the minimal pair with final sound difference.
a) loop-loot b) day-they .. c) mat-sat ©d) pull-pool

She was very fond of chocolates. (Tigk'jéuitable Question Tég.)
a) Wasn’t'she? b)Dol? = c) Isn’tit? d) Isn’t she?

Have some more cold coffe“:;h: Tick suitable Question ‘Tag.)
a) Have you? b) Will/would you? .¢) Won’t you? d) Weren’t you?

Punctilious. (Tick the word having closest meaning.)
a) meticulous %, b) casual * ¢) Final d) none of these

Opulence. (Tick the word having closest meaning.)

a) poverty b) penury c) affluence d) indigence

Mr. Chatterjee is MLA. Which article will be suitable to fill this blank?

a) A b)An. c) The d) None

My brother studies in university. Which article will be suitable to fill this blank?
a)A douy, b) An c) The d) None of'the above
He did not washlfhé clothes. Tick the present progressive form if the sentence

a) He is not washing the clothes. b) He will not be washing the clothes.

c¢) He was not washing the clothes. d) He has not washed the clothes.
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It has been raining. Choose the Future indefinite form of the sentence
a) It would rain. b) It will have been raining.
¢) It should rain. d) It w111 raln

The train reached at the railway station. Choose the past perfect form of the sentence.
a) The train had reached at the station.

b) The train is reaching at the railway station.

¢) The train will reach at the railway station

d) The train reaches at the railway statlon

The gardener had been Watcrmg the plants for two hours. Wh1ch is the tense of the
sentence? s B

a) Present Indefinite 4 b) Past Perfect

¢) Past Perfect Contlnuous b d) Present"Perfect Continuous.

The Sun rises in the East Choose the Future Pcrfcct Contmuous form of the sentence.
a) The Sun will have been rising in the East.

b) The Sun will have risen in the East.

¢) The Sun will rise in the East.

d) The Sun Wﬂl be rising in the East.

“tp The sound is present in

2) thin byshin v  <ochin . d)tin
“r> sound is there in 1 6 ;
a) feet b) treat " ¢) soup. d) sheet

K % sk Kk
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